| HC #&E7iess I malally

Hydraulic Expansion Toolholder Series Cutting Edge Solution



= Y=E = == I-‘-I
=) il.‘ﬁ F!_ =] 1=
BEOEMEZIBETE0.003mm LA(2.5D)

i = M HE

BRAVAEMRE - JREFESKENIHARBES -
REZFEBRENRESR - BAREIE - JJEYOE
RITERRR VS U G - WMRIREERNM IR - AKEER
C7IBRERSEm - BRE T HERERA -

& wEJJ#E  Hydraulic Expansion Toolholder €

LEemimA



& B2 18 12 il

REBIIEUEHMARERT] - BREEEMR - "AEBEGENELR - REEJEHEBE
- IJJBEEANRBRTIRHEZENY - MR SRS FLLEERRE/BNERE - BRI 4
EERLRINER s TESEENE -

TR FHH

JJEORO K - ORRAERET I ME PO KR - EERaTHS -
#5Z0.005 (2.5D) -

B RS FRE

RBRTRZREERET - B5E - R81E - HBEESHYE - Bl REBEGAGWIBERT BRERFE
FATNBEIE® -

REBIIEEERGHE LSHETE - R 7EERFI - B RRBERNKS -

& B J]#2  Hydraulic Expansion Toolholder 03 <&

LEemimA



@ wE )12 Hydraulic Expansion Toolholder 04

Lemim«a



® 0 © 0 0

©

1R [BR 554 51 8 4%
REMERH4BARBHEEEE - BNASRFRNBRHMELUE - BREERANRTF -

B 75 2=
BEEEE I REHE A RS -

R E R 8 IR 4%
BEISEE) - RS EBEERE -

A B R 22
WARE SR - RIFIMA - RFBREABANECEHET  AEBERFARRERE LNNRETDRE -

B
RS R B A E LRI -

RIEGE
FEBEERE - ERA—RARRFOTRT] -

SEIPEE

EEER/20mmE - &ARFHRESEZEIOONME/NAFES20NmM B L -
EEER3IZ2MmE - AR HESE2000NmER/NHEFEIOONmM L £ -

=R Z B F#is
MERERE TR10mm BFEERIETE -

R IBJ]12 Hydraulic Expansion Toolholder 05

o

LermimA



d1

d2

QO HTEEER20mmF - &ARFFHEFZEIOONmER/\H JRoARSEMTI AT - & & - RS -
#5520Nm Bl E -
RE71E100%M=ar - i AETEFEM A -
EEERIZMmME - ARG HESZE2000NmME/N

FHEE900NmM LA L -

©

O RFELEFMEERER0.003mm LAQ2.5D) -
1Z#EE) P G2.5 25000 RPM -

00000

@& wE )12 Hydraulic Expansion Toolholder 06

LEemimA

mERALBER I RER ] - ER—M&R<ERF -
BT - PPEREYHR - ERERSD -




REEJIAREA IS E H {th 251 JJ1FEEERER

RERTIE ER 7118 I E 1§ 457118
e ++ - - +
R 0.003mm ( 2.5D) 0.01-0.02 mm 0.01 mm 0.005mm
BEM ++ - - -

++ O ++ +
71 (020mm ) 900Nm 220Nm yal=ERa 420Nm
Ko E ++ - ++ -
HE ++ O - -
S aF ar _ _
SIS R + (153 )
RIFMRLBAM (d) ++ ++ _ ;
BRI ERBES M d + + .
BhEERR 5 ++ - + -
RERZBEE ++ - - -
= e TH TP P O @) _
SUBEAES —RIRE GRARE + ZETE —RIRF+ R TE s i
++E+F OLZE - AW

% B J]#2  Hydraulic Expansion Toolholder 07 <&

LEemimA



03031

12-58

LemmAa EBET40-LHC

BT / LH HABRER )R
Torque Hydraulic Toolholder

H/AOE 5=
BE - Nm)  (KGS)
Torque Weight

Wrench

BT30-LHC12-69 69 46 32 4.5 47 23 12 42 44.5 M8X1.0P PT5 110 0.60
BT30-LHC20-90 90 51 50 5 68 39 20 42 44.5 M8X1.0P PT5 400 0.90
-

& wE /)12  Hydraulic Expansion Toolholder 08

LEemimA



d
d2

. ﬁZZZZ%ZZ%V . =

da
d2

BT / LH HMABLRER )RR
Torque Hydraulic Toolholder

ms HNE =S

TE - Wrench forile  Weight

NEw BT40-LHC6-90 90.5 2 43 3.6 20.5 63 6 26 44.5 M8X1.0P 2 PT5 16 1.40
NEW BT40-LHC8-90 90.5 37 44.5 3.6 20.5 63 8 28 44.5 M8X1.0P 2 PT5 23 1.40
NEW BT40-LHC10-90 90.5 41 44.5 3.6 255 63 10 30 44.5 M8X1.0P 2 PT5 45 1.40
BT40-LHC12-58 58 46 - 4.5 31 31 12 42 - M8X1.0P 1 PT5 110 1.20
BT40-LHC16-72 72.5 51 - 5 37 45.5 16 49.25 . M8X1.0P 1 PT5 350 1.30
BT40-LHC20-72 72.5 51 - 5 37 45.5 20 49.25 - M8X1.0P 1 PT5 520 1.40
BT40-LHC32-120 120 61 - 6 44 80 32 62.5 - M8X1.0P 1 PT6 900 2.38
BT50-LHC20-83 835 51 - 5 37 45.5 20 49.25 - M8X1.0P 1 PT5 520 4.10
BT50-LHC32-90 90 61 . 6 44 52 32 72 S M8X1.0P 1 PT6 900 4.60

% B J]#2  Hydraulic Expansion Toolholder 09 <&

LEemimA



]
. ™
B = i I A
i FL R —
I e £
Is l4
I2

H S K / L H f’frﬂ?gfc%zajfoolholder

gx HENE EE

Wrench el Weight
HSK63A-LHC16-80 80 51 = 5 37 54 16 525 = M8X1.0P PT5 350 1.3
HSK63A-LHC20-80 80 51 = 5 37 54 20 525 = M8X1.0P PT5 520 1.32
HSK63A-LHC32-120 120 61 = 6 44 9405 32 62.5 = M8X1.0P PT6 900 2.66
HSK100A-LHC20-90 90 51 = 5 &7/ 61 20 52.5 = M8X1.0P PT5 520 2.8
HSK100A-LHC32-100 100 61 = 6 44 71 32 72 = M8X1.0P PT6 900 3.8

@& wEE )12  Hydraulic Expansion Toolholder 010

LEemimA



o)

|

I
d2

REBER
H YC Straight Collet HYC 1 2
g RS R &6 E
Spec. L 1 = d2 Spec. Range
HYC12 47 45 12 16.5 HYC12-03 3
HYC12-04 4
HYC16 52.5 50.5 16 20 HYC12-05 5
HYC20 525 50.5 20 24 HYC12-06 6
HYC32 62.5 60.5 32 35.5 HYC12-08 8
HYC16 HYC20 HYC32
A% R0 E RS Ri5EEE RS KE5EEE RS KH5EEE RS Ri5EEE
Spec. Range Spec. Range Spec. Range Spec. Range Spec. Range
HYC16-03 HYC20-03 3 HYC20-10 HYC32-06 HYC32-20
HYC16-04 4 HYC20-04 4 HYC20-11 11 HYC32-08 8 HYC32-25 25
HYC16-06 6 HYC20-05 5 HYC20-12 12 HYC32-10 10
HYC16-08 8 HYC20-06 6 HYC20-13 13 HYC32-12 12
HYC16-10 10 HYC20-07 7 HYC20-14 14 HYC32-14 14
HYC16-12 12 HYC20-08 8 HYC20-15 15 HYC32-16 16
HYC20-09 9 HYC20-16 16 HYC32-18 18

& B J]#2  Hydraulic Expansion Toolholder 011 <&

LEemimA



(—~L_LHAIN

HEAOWAY
I PR AT B 2 W)

CHAIN HEAOWAY MACHINE TOOLS CO.,LTO.

oJ TEL : +886-4-26265252
I8 FAX: +886-4-26267941

@ it . BEETHIEKER#ERK2325%
No. 232, Wuquan Rd., Qingshui Dist., Taichung City 436, Taiwan

& 483t : www.chain-headway.com

sge mmE mgow Em Rl
% B = EI% %
Website($ 3XX) Website(EN) LINE Whatsapp Facebook

HithiR# B S A2 R EREN

Other Sales Region Please Review Our Website

No. 12102



